1. Insert the stopper bolts into both ends of
the universal plate to prevent the adapter
brackets from slipping off.

Slide the adapter brackets :
into the universal plate. <= b

2. Attach both plastic caps to both ends of the
universal plate using the appropriate screws.

3. Tighten all screws with a Phillips screwdriver.

www.logicav.in




LOGIC

Z1x2

2x2
Qx2

www.logicav.in




LOGIC

0°~+90°

@%

=
7= )=
Ax1 Bx1 Cx1 Dx1 Ex1 Fx1 Gx2
:::::: T —— —— ‘ — —
: a0 b X— =
Hx2 Ix1 JIx1 Kx1 Lx1
€ )mm - (O - @ 0 ]
M6X20 (x4)  M4X10 (x4) M5X10 (x4) M8x16 (x6) M6x10 (x4) M8x65(x8)
M N o] P Q S
M8x40(x4) M8(x4) 4mm Hex Key (x1) 5mm Hex Key (x1) 6mm Hex Key (x1)
T u \Y, W X Y

© © > —p =
Z6

D8 Washer (x4) D8 PLASTIC (x2)  D6(x6) M6x8 (x4)
z Z1 z2 z3 z4 z5

www.logicav.in




